Multiplying Matrices
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Directions: Find the dimensions of matrix AB.

1' A3><l hd leZ

3x¥ yx2 =|3x2

2' A6><4 ¢ B4><2

Lald  Mx3 = \cx;)_




| x4y 3ay = umdetined

Directions: Find each product, if possible.
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Q,: (-0 + Y+ (q)8)= A4+ 0+72 = 9,
O,: (-2D(-0) + OY-D+ (a)(58)= 20+ 0 +u5 =4S
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G,: (M + A-S1= 1 +0 =
Guz: (VL) + (F2Y(VN = £+-2a= Y
Gz O+ (0)(-5)1= —UH+0 =1y
Qg: (-9)(C) + (OX = —av + o= -2
Ga: (BN + (-1)-5)= S5+5=¢0
Oaz: (SIE + (- = 30+ -1729
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4, -0+ (LY = -+ =1

Que: (—10¥-2)+ () 4= 30 + IL= UL

0 (—0X2Q) + (uK-9)= ~ag~+ -3 = -S5C
Q. AN +(-INL)= 19+ -72= -S%
Ozt (J-RY + (< 12)4) = -4 » -4$ = -GO
Qey. (W2)+ (~12)(-9) = 2%+ 10%= 13¢
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Directions: Use matrices A, B and C to simplify the expression.

A:E _15} B:{_i’o} C=[1 -5]

(3} bS] [ 4

Ay 2= ax2

34 10 = -30 S0 2
4 =5 | -G *le _s
On- (-320 W)= -30

G.e: (-30)(-5)= 150 = [-2% 351}
Oz (NO) =\ 7 -0

Aze: (N(-5)=-5




Directions: Solve for x and y.
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